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MDH/M-20 19503
MATHEMATICS FOR ECONOMISTS-II
P-203-E
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all, including Q. No. 1 which
is compulsory. Select one question from each Unit. All
questions carry equal marks.

i'u I3k 1 viuok; Ifgr dy dkp i'uk d mlkj
nft, A 1R;d bdib 1 ,d 1"u pfu, A IHh 17Uk d
vd lelu g A

1. Compulsory Question. Define the following :
(a) Conic sections
(b)  Arithmetic progression
(c) Convergence
(d) Harmonic progression
(e) Exponential function
(f)  Fraction
(g) Differential equation
(h) Difference equation.
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viuok; 1'u A fubufyf[kr dk ifjHif"r dift, 4
(v) "d/h M

(c) wvdxt.krh; ixfr

(1) diotld

(n) oglelfud i1xfr

(b) Mt d;

(i) v

(x) foHind leidj.k

(g) wvrj ledj.k A

Unit I (bdkb 1)

2. (a) Prove that the lines y = 5x — 7 and 2y = 10x + 5
are parallel.
flv. dift, fd ylbu y =5x -7 Vi 2y =10x +5
lefukrj g A

(b) Write down the gradient of lines x — y + 1 = 0,

x+y+7=0and 2x — 3y + 1 + 0 and show that
they form a right-angled triangle.
yibuk d <ty dk x—y+1=0, x+y+7=0 Vij
2= 3y+1+0 fyf[k, Vij crib, fd o ,d ledk.k
f-tHkE cukr g A

3. Find the equation of a circle whose centre is (a, b) and
radius is /g2 +b2 .
,d olk di leidj.k Kir dift, feldk din (a, b) Vij

ATk Va2 +p2 g A
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Unit IT (bdkb 1II)

If the value of a car is depreciated by 25 per cent annually,
what will be its estimated value at the end of 8 years, if
its present value is Rs. 2,048.

;in fdlh dij db eY; Dhykuk 25 1frikr AVvk;k thrk g] rk
8§ o d vr e mbdk vuelfur eY; D;k gxi] ;fn mldk
orelu eY; 2,048 # g A

If ABCD are in GP show that :

1 1 1
\/a2+b2 ’\/b2+cz ’ \/cz+d2

are in GP.
;in ABCD, GP e g] rk fn[lib; fd %
1 1 1
\/a2+b2 ’\/b2+cz ’ \/cz+d2
GP e g A

Unit ITI (bdkb 1II)

(a) Evaluate :
Ij(x2+5x+7)dx.
eY;kdu dift, %

Ij(xz +5x+7)dx.
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(b)
7. (a)
(b)
8. (a
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If MPC is 50 find the consumption function given

that consumption is 100 when income is zero.

;i MPC% g] rk miHkx iQyu Kir dift,] ;fn

"W; wvk; dh fLRfr e miHikx 100 g A

Evaluate :
J'4x+3\/§+1
eY;kdu dift, %
J'4x+3\/§+1

Given the marginal cost function MC =2 —4Q + 3Q2.
Find the total variable cost when output Q = 4.

,d ile dh Ihekr yixr MC=2-4Q +3Q% ¢ A
vxj miknu Q =4 g] rk dy ifjorun; yixr db
X.fuk dift, A

Unit IV (bdkb 1V)

Solve :
gy dift, %
4
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(b) Solve :
@ _ e +xte
dx
gy dift, %
W _ gy 4 2
dx

9. What is a difference equation ? Discuss the order and
degree of a difference equation.
vrj lendj.k D;k g \ vrj letdj.k d @e vij Mxh ij
ppk dift, A
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